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ACCOUNTS OFFICER, CLASS III IN TAMIL NADU STATE 
TREASURIES AND ACCOUNTS SERVICE - 08/10/2022 

 
1. Name the steroid found in yeast. 

a. Lanosterol   b.  Bile acids                         c. Ergosterol 

d. Ostreasterol  e. Answer not Known 
<];by; fhzg;gLk; ];Buha;bd; ngah; vd;d? 
a. yhNdh];Buhy;  b. gpj;j mkpyk;  c. vh;Nfh];Buhy; 
d. M];bhpNah];Buhy; e. tpil njhpatpy;iy 
 

2. The sugar found in insect haemolymph is  
a. Cellobiose   b. Maltose   c. Trehalose 

d.   Glucose   e. Answer not known 
G+r;rpfsp;d; `PNkhypk;gpy; fhzg;gLk; rh;f;fiu ________ MFk;. 
a. nry;NyhgNah];  b. khy;Nlh];   c. buf;fNyh]; 
d. FSf;Nfh];   e. tpil njhpatpy;iy 
 

3. The present form of the World was created by 
a. Evolutionary forces b. Inorganic and Organic Materials 
c. Almighty   d. Organic evolution e. Answer not known 
jw;fhy cyfk; vd;gJ __________ My; cUthf;fg;gl;lJ. 
a. ghpzhk rf;jpfshy; b. fdpk kw;Wk; fhpk nghUs;fshy; 
c. flTshy;   d. fhpk ghpzhkj;jhy; e. tpil njhpatpy;iy 
 

4. The fossil of Java -Ape-man Pithecanthropus erectus was discovered by 
a. Mayr  b. Simpson   c. L.S.B. Leakey 
d.  Dubois  e. Answer not known 
[hth Fuq;F kdpjdpd; Gijgbtkhd gpj;jpNfd;NjhNuhg]; vuf;l];ia fz;Lgpbj;jth;. 
a. khah;  b. rpk;rd;   c. vy;.v];.gp. yPf;fp 
d. bghap];  e. tpil njhpatpy;iy 
 

5. If ‘A’ is the mass number of an element, then volume of the nucleus of an atom of this 
element is proportional to 
a. A  b.  A2   c.A3  d. A1/3  e. Answer not known 
xU jdpkj;jpd; nghUz;ik vz; ‘A’ mjd; mZf;fUtpd; gUkd; ve;j tpfpjk;? 
a. A  b.  A2   c.A3  d. A1/3  e. tpil njhpatpy;iy 
 

6. Which of the following particles has same mass as that of the electron? 
a. Proton   b. Neutron   c. Positron 

d. Neutrino   e. Answer not known 
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gpd;tUk; Jfs;fspy; vyf;l;uhdpd; mNj msT epiw nghz;l Jfs; vJ? 
a. GNuhl;lhd;   b. epA+l;uhd;   c. ghrpl;uhd; 
d. epa+l;hpNdh   e. tpil njhpatpy;iy 
 

7. A laser beam is used for carrying out surgery because it 
a. is highly coherent beam     b. is highly directional beam    c. is sharply focused 
d. is highly monochromatic    e. Answer not known 
mWit rpfpr;ir nra;a Nyrh; fw;iw gad;gLj;jg;gLfpwJ Vnddpy; mJ 
a. kpfTk; Xhpay; fw;iwahFk;.  b. kpfTk; jpir fw;iw MFk;. 
c. $h;ikahd Ftpak; nfhz;lJ  d. kpfTk; xw;iw epwKilaJ 
e. tpil njhpatpy;iy 
 

8. Choose a highly selective rodenticide for rats among sodium fluro acetate, alpha 
naphthyl urea, norbormide and thallium acetate. 
a. Sodium fluro acetate  b. Alpha naphthyl urea  c. Norbormide 
d. Thallium acetate   e. Answer not known 
Nrhbak; /g;NshNuh mrpl;Nll;> My;gh ehg;ijy; A+hpah> ehh;Nghh;ikL kw;Wk; jhypak; 
mrpl;Nll; Mfpatw;Ws; nfhwpj;Jz;zpfshd vypfSf;F kpfTk; Njh;e;njLf;fg;gl;l 
nfhy;ypia Njh;e;njL. 
a. Nrhbak; /g;NshNuh mrpNll; b. My;gh ehg;ijy; A+hpah   c. ehh;Nghh;ikL 
d. jhypak; mrpl;Nll;  e. tpil njhpatpy;iy 
 

9. The Zoological survey of India has recommended to tag which of these turtles along 
the Rushikulya river mouth in Ganjam District for studying the migration route of 
these endangered species 
a. Indian Black Turtle b. Green Sea Turtle   c. Olive Ridleys Turtle 
d. Indian Star Turtle  e. Answer not known  
,e;jpa tpyq;fpdk; fzf;nfLg;G ikaj;jhy; fPo;f;fz;ltw;Ws; vJ fQ;rk; khtl;lj;jpy; 
cs;s UrpFy;ah ejp tha; topahf tyirNghFk; mope;J tUk; ,dq;fis Muha 
FwpaPL nra;ag;gl;Ls;sJ. 

 a. ,e;jpa fUg;G Mik  b. gr;ir fly; Mik c. Mypt; hpl;yp Mik 
d. ,e;jpa el;rj;jpu Mik  e. tpil njhpatpy;iy 
 

10. Which of the following programme has been launched by Central Government for the 
cleaning of River Ganga? 
a. Ganga Action Plan     b. Namami Ganga       c.Gangae Namami Action plan 
d. Ganga Cleaning Mission    e. Answer not known 
fq;if ejpia Rj;jk; nra;tjw;fhf fPo;fz;l jpl;lq;fspy; vJ kj;jpa murhy; 
njhlq;fg;gl;Ls;sJ? 
a. fq;fh nray; jpl;lk;    b. ekhkp fq;Nf   c. fq;Nf ekhkp nray;jpl;lk; 
d. fq;ifia Rj;jk; nra;Ak; gzp   e. tpil njhpatpy;iy 
 

11. Knowledge Economy Mission was launched by ____________ Government on June 4th 
2021. 
a. Madhya Pradesh  b. Tamil Nadu  c. Uttar Pradesh 
d. Kerala   e. Answer not known 
2021 [{d; 4 Mk; Njjp mwpTrhh; nghUshjhu kp~d; ve;j murhy; epWtg;gl;lJ? 
a. kj;jpa gpuNjrk;  b. jkpo;ehL   c. cj;ju gpuNjrk; 
d. Nfush   e. tpil njhpatpy;iy 
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12. Which of the following schemes is introduced by Government of India to ensure old 
age protection for unorganized workers? 
a. Prime Minister’s Yuva Yojana   
b. Prime Minister’s Shram Yogi Maan – Dhan Yojana 
c. Prime Minister’s Vyay Vandana Yojana 
d. Prime Minister’s Mudra Yojana 
e. Answer not known 
mikg;G rhuh njhopyhsh;fSf;F KJikg; ghJfhg;ig cWjp nra;tjw;fhf 
gpd;tUtdtw;Ws; ,e;jpa murhy; mwpKfg;gLj;jg;gl;l jpl;lk; 
a. gpujkhpd; Ath jpl;lk;     b. gpujkhpd; ];uk; Nahfp kd;-jd; jpl;lk; 
c. gpujkhpd; ta te;jdh jpl;lk;    d. gpujkhpd; Kj;uh jpl;lk; 
e. tpil njhpatpy;iy 
 

13. ‘Dholavira’ is an ancient _______________ city. 
a. Harappan  b. Mohenjadaro  c. Keeladi 
d. Lothal  e. Answer not known 
Njhyhtpuh goikahd _______________ efuk; 
a. `ug;gd;  b. nkh`Q;rjhNuh  c. fPob  
d. Nyhjy;  e. tpil njhpatpy;iy 

  
14. The Song Vante Mataram was composed in ___________ language by Bankim Chandra 

Chatterji 
a. Bengali  b. Hindi   c. Urdu 
d. Sanskrit  e. Answer not known 
te;Nj khjuk; vd;w ghly; ___________nkhopapy; gq;fpk; re;jpu rl;lh;[pahy; 
,aw;wg;gl;lJ. 
a. tq;fhsk;   b. `pe;jp   c. cUJ   
d. rk];fpUjk;  e. tpil njhpatpy;iy 
 

15. ‘Statue of Equality’ is located in the city of  
a. Orissa  b. Delhi   c.Hyderabad 
d. Gujarat  e. Answer not known 
‘rkj;Jt rpiy’ mikag; ngw;w efuk; 
a. Xhprh  b. by;yp   c. i`juhghj; 
d. F[uhj;  e. tpil njhpatpy;iy 
 

16. Which one of the following is not correct about the Vijaya Nagar Steel Plant? 
a. It is located in the Bellary District of Karnataka 
b. It obtains coal from Jharia 
c. It obtain hydro electricity from the Tungabhadra project 
d. It makes use of coal known as Corex process 
e. Answer not known 
fPo;fz;ltw;Ws; vJ tp[aefh; ,Uk;G v/F MiyAld; nghUe;jhJ? 
a. ,J fh;ehlfhtpd; ngy;yhhp khtl;lj;jpy; mike;Js;sJ. 
b. ,jw;F [hhpahtpypUe;J epyf;fhp ngWfpwJ. 
c. ,jw;F Jf;fgj;uh ePh;kpd; rf;jpapypUe;J ePh;kpd;rf;jp fpilf;fpwJ. 
d. ,q;F epyf;fhpahdJ Nfhuf;]; Kiwapy; gad;gLj;jg;gLfpwJ. 
e. tpil njhpatpy;iy 
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17. Match the given animals with their respective species 
a. Endangered species - 1. Wild buffalo 
b. Vulnerable species - 2. Asiatic cheetah 
c. Rare species  - 3. Crocodile 
d. Extinct species  - 4. Dolphins 
 a. b. c. d. 
A. 3 4 1 2 
B. 2 4 1 3 
C.  3 1 4 2 
D. 2 3 4 1 
E. Answer not known 
fPNo nfhLf;fg;gl;l tpyq;Ffis mtw;wpd; rhpahd ,dq;fSld; nghUj;Jf. 
A. Mgj;jhd ,dq;fs;   1. fhl;L vUik 
B. ghjpf;fg;glf;$ba ,dq;fs;  2. Mrpa Gyp 
C. mhpjhd ,dq;fs;    3. Kjiy 
D. mope;J Nghd ,dq;fs;   4. lhy;/gpd; 
 a. b. c. d. 
A. 3 4 1 2 
b. 2 4 1 3 
C.  3 1 4 2 
D. 2 3 4 1 
E. tpil njhpatpy;iy 
 

18. How many biosphere reserves are there in India? 
a. 22  b. 23  c.18  d. 16  e. Answer not known 
,e;jpahtpy; vj;jid caph; Nfhs fhg;gfq;fs; cs;sd? 
a. 22  b. 23  c.18  d. 16  e. tpil njhpatpy;iy 
  

19. In India how many towns and interstate rivers were covered under the National river 
conservation Plan? 
a. 152 towns and 27 interstate rivers b. 125 towns and 30 interstate rivers  
c. 512 towns and 33 interstate rivers d. 215 towns and 25 interstate rivers 
e. Answer not known 
,e;jpahtpy; Njrpa ejp ghJfhg;G jpl;lj;jpd; fPo; vj;jid efuq;fs; kw;Wk; ,ilepiy 
MWfs; cs;slf;fg;gl;ld? 
a. 152 efuq;fs; kw;Wk; 27 ,ilepiy MWfs; 
b. 125 efuq;fs; kw;Wk; 30 ,ilepiy MWfs; 
c. 512 efuq;fs; kw;Wk; 33 ,ilepiy MWfs; 
d. 215 efuq;fs; kw;Wk; 25 ,ilepiy MWfs; 
e. tpil njhpatpy;iy 
 

20. Geothermal energy is produced in  
a. Silent Valley  b. Tapti Valley  c. Puga valley 

d. Araka valley  e. Answer not known 
Gtp ntg;g rf;jp cw;gj;jp nra;ag;gLk; ,lk; 
a. mikjp gs;sj;jhf;F  b. jg;jp gs;sj;jhf;F c. Gfh gs;sj;jhf;F  
d. muf;fh gs;sj;jhf;F e. tpil njhpatpy;iy 
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21. Assertion (A) : The Indus traders resides in Mesopotamia. 
Reason     (R): They took cotton for sale. 
a. (A) is right (R)  is wrong 
b. Both (A) and (R) are right 
c. (A) is wrong (R) is right 
d. (A) is right but (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W   (A)  :    rpe;J tpahghhpfs; nkrgNlhkpahtpy; jq;fpdh; 
fhuzk; (R) : gUj;jpia jq;fSld; nfhz;L nrd;wdh; 
a. (A) rhp (R) jtW 
b. (A) (R) ,uz;Lk; rhp 
c. (A) jtW (R) rhp  
d. (A) rhp Mdhy; (R) (A)  apd; rhpahd tpsf;fky;y. 
e. tpil njhpatpy;iy 
 

22. The greatest of Indo-Islamic poets lived during the reign of seven monarchs, and 
associated in the royal court of Alauddin for a long period. Who was he? 
a. Amir Khusrau  b. Barani   c. Kabir 
d. Hanifa Deen   e. Answer not known 
,e;Njh - ,];yhkpa ftpQh;fspy; kpfg;nghpath;> VO kd;dh;fspd; Ml;rpf; fhyj;jpy; 
tho;e;jth;. NkYk; myhTjPd; mur mitapy; ePz;l fhyk; njhlh;G cilath;. mth; 
ahh;? 
a. mkph; F];U  b. guzp   c. fgPh;   
d. `dp/gh Bd;  e. tpil njhpatpy;iy 
 

23. The term ‘Shibars’ denotes that 
a. Gun boats  b. Strong trading vessels  c. Trading boats 

d. Sailors  e. Answer not known 
‘rpghh;];’ vd;w nrhy; vij Fwpf;fpwJ? 
a. Jg;ghf;fpAld; $ba glFfs; 
b. typikahd thzpg fg;gy;fs; 
c. tzpf glFfs; 
d. fg;gy; gzpahsh;fs; 
e. tpil njhpatpy;iy 
 

24. Who lead out the South expedition of Alauddin Khilji against Warangal by way of 
Bengal in 1303? 
a. Bir Dhul   b. Jalaluddin Firuz  c. Malikafur 
d. Shihabuddin Omar e. Answer not known 
1303 Mk; Mz;by; tq;fhsj;jpd; topahf thuq;fYf;F vjpuhf myhTjpd; fpy;[papd; 
njw;F gilnaLg;ig top elj;jpaJ ahH;? 
a. gph;Jy;  b. [yhYjpd; gpU];  c. khypf;fG+h;   
d. ~pfhGjpd; xkh; e. tpil njhpatpy;iy 
 

25. Hindu culture reached its Zenith in India under the reign of the  
a. Mauryas  b. Guptas   c. Kushanas 
d. Harshas  e. Answer not known 
,e;jpahtpy; ,e;J gz;ghL _______________ Ml;rpapd; fPo; cr;rj;ij mile;jJ. 

a. nkshpah;fs; b. Fg;jh;fs;   c. F~hzh;fs;  
d. `h;~h;fs;  e. tpil njhpatpy;iy 
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26. Name the place which is having the world famous for its range of brass items in India. 

a. Banaras  b. Jaipur  c. Moradabad 

d. Palitana  e. Answer not known 
,e;jpahtpy; mjd; gpj;jis nghUl;fspd; tuk;gpw;F cyfg;Gfo; ngw;w ,lj;jpd; 
ngaiuf; Fwpg;gplTk;. 
a. Gdhu];   b. n[a;G+h;  c. nkhuhjhghj; 
d. gypj;jhdh  e. tpil njhpatpy;iy. 
 

27. Name the Word’s oldest University founded in the 5th Century A.D. 
a. Nalanda   b. Vatabhi   c. Takshashila 
d. Vikramashila  e. Answer not known 
fp.gp. 5 k; E}w;whz;by; epWtg;gl;l cyfpd; goikahd gy;fiyf;fofj;jpd; ngah; vd;d? 
a. ehye;jh   b. thjhgp   c. jl;rrPyk; 
d. tpf;uk~pyh  e. tpil njhpatpy;iy 
 

28. Match List I with List II and select the correct answer from the order given below: 
List I    List II 

 A. Debsa pass  1. Uttarakhand 
 B. Likhapani pass  2. Himachal Pradesh 
 C. Nathu La pass  3. Arunachal Pradesh 
 D. Muling La pass  4. Sikkim 

 A B C D 
a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3 
e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;jp fPNo nfhLf;fg;gl;Ls;s thpirapypUe;J rhpahd 
gjpiy Njh;e;njLf;fTk;. 

gl;bay;  I      gl;bay; II 
 A. nlg;]h fztha;  1. cj;jufhz;l; 
 B. ypfhgdp fztha;  2. `pkhr;ry gpuNjrk; 
 C. ehJ yh fztha;  3. mUzhr;ry gpuNjrk; 
 D. Kypq; yh fztha; 4. rpf;fpk; 
  A B C D 

a. 2 3 4 1 
b. 4 2 3 1 
c.  2 3 1 4 
d.  4 2 1 3 
e. tpil njhpatpy;iy 
 

29. Article  94 of Indian Constitution deals with 
a. Removal of the Speaker and Deputy Speaker 
b. Removal of Chief judge of Supreme Court 
c. Removal of Chief Election Commissioner 
d. Removal of Vice – President 
e. Answer not known 
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,e;jpa murpayikg;G tpjp 94 tpsf;FtJ 
a. rghehafh; kw;Wk; Jiz rghehafh; ePf;fk; 
b. cr;r ePjpkd;w jiyik ePjpgjp ePf;fk; 
c. jiyik Njh;jy; Mizah; ePf;fk; 
d. Jizf; FbauRj; jiyth; ePf;fk; 
e. tpil njhpatpy;iy 
 

30. Which article of Indian Constitution prohibits traffic in human beings and forced 
labour? 
a. Article 21  b. Article 22   c. Article 23 

d. Article 24  e. Answer not known 
,e;jpa murpayikg;gpd; ve;j cWg;G kdpj flj;jy; kw;Wk; fl;lha ciog;ig jil 
nra;fpwJ.? 
a. cWg;G 21  b. cWg;G 22  c. cWg;G 23 
d. cWg;G 24  e. tpil njhpatpy;iy 
 

31. Which among the following statements on fundamental duties is / are correct? 
i) They serve as a reminder to the citizens that while enjoying their rights, also to 

be conscious of duties. 
ii) They serve as a warning against the antinationals. 
iii) They serve as a source of inspiration for the citizens and promote sense of 

discipline. 
iv) They are enforceable by law 
a.  (i), (ii) and (iii) are correct b. (i), (iii) and (iv) are correct 
c.  (i) and (ii) are correct  d. All are correct  e. Answer not known 
mbg;gilf; flikfs; gw;wpa fPo;f;fz;l $w;Wfspdy; vJ > vit rhp? 
i) chpikfis mDgtpf;fpd;w Fbkf;fSf;F mth;fspd; flikfs; gw;wpa 

epidT+l;yhf ,J mike;Js;sJ. 
ii) Njr tpNuhjpfSf;F Xh; vr;rhpf;ifahf ,J mike;Js;sJ. 
iii) Fbkf;fSf;F Cf;fj;jpd; MjhukhfTk;> mth;fsplk; xOq;if Nkk;gLj;JkhWk; 

,J mike;Js;sJ. 
iv) ,J rl;lj;jpd; %yk; epiy ehl;lf;$baJ. 
a.  (i), (ii) kw;Wk; (iii) rhpahdJ b. (i), (iii) kw;Wk; (iv) rhpahdJ  
c.  (i) kw;Wk; (ii) rhpahdJ  d. midj;Jk; rhpahdJ 
e. tpil njhpatpy;iy 
 

32. Name the Prime Minister of India who initiated the “ Look -East Policy”? 
a. P.V.Narasimha Rao b. Atal Bihari Vajpayee  c. Manmohan Singh 
d. I.K.Gujral   e. Answer not known 
“ fpof;F Nehf;Fk; nfhs;ifia “ Jtf;fpa ,e;jpa gpujkh; ahh;? 
a. P.V eurpk;k uht;  b. mly; gpfhhp th[;gha;  c. kd;Nkhfd; rpq; 
d. I.K. F[;uhy;  e. tpil njhpatpy;iy 
 

33. The power to create or abolish a legislative council is vested with  
a. The Vice President b. State Legislature  c. The President 
d. The Parliament  e. Answer not known 
rl;l kd;w Nkyitia cUthf;fTk; kw;Wk; ePf;fTkhd mjpfhuk; ahhplk;; cs;sJ. 
a. FbauR Jizj; jiyth; b. khepy rl;lkd;wk;  c. FbauRj; jiyth; 
d. ehlhSkd;wk;.   e. tpil njhpatp;y;iy. 
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34. The Central Administrative tribunal was setup on 
a. 1984 b. 1985 c. 1986  d. 1987 e. Answer not known 
kj;jpa eph;thf jPh;g;gha cUthf;fg;gl;l Mz;L.  
a. 1984 b. 1985 c. 1986  d. 1987 e. tpil njhpatp;y;iy 
 

35. Originally which country used the concept of “public Interest Litigation “ ? 
a. United States of America (USA) b. The United Kingdom 
c. Canada  d. Japan  e. Answer not known 
‘nghJey tof;F’ Kjd; Kjyhf ve;j ehl;by; nfhz;Ltug;gl;lJ? 
a. mnkhpf;fh  b. ,q;fpyhe;J  c. fdlh 
d. [g;ghd;  e. tpil njhpatp;y;iy 
 

36. Match the following and choose the correct answer: 
Act       year 

 A. Aadhar Act   1.   1997 
 B. Niti Aayog   2.   1999 
 C. IRDA Act    3.    2015 
 D. TRAI Act    4.    2016 

A B C D 
a. 4 3 2 1  
b. 3 2 4 1 
c.  3 2 1 4  
d.  4 1 3 2 
e. Answer not known 
fPNo cs;stw;wpidg; nghUj;jp rhpahd tpil vOJf. 

   rl;lk;   tUlk; 
A. Mjhh; rl;lk;  1. 1997 
B. epjp MNahf;  2.  1999 
C. I.Mh;.b.V. rl;lk;  3. 2015 
D. buha; rl;lk;   4. 2016 

A B C D 
a. 4 3 2 1  
b. 3 2 4 1 
c.  3 2 1 4  
d.  4 1 3 2 
e. tpil njhpatpy;iy 

 
37. The main objective of the Eleventh Five Year Plan was 

a. Growth with stability  b. Faster and more inclusive growth 
c. Removal of poverty  d. Attainment of self – reliance 
e. Answer not known 

 gjpNdhwhtJ Ie;jhz;L jpl;lj;jpd; Kf;fpa Nehf;fk; 
a. epiyj;jd;ikAldhd tsh;r;rp 
b. Ntfkhd kw;Wk; NkYk; cs;slf;fpa tsh;r;rp 
c. tWikia xopj;jy; 
d. jw;rhh;G miljy; 
e. tpil njhpatpy;iy 
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38. Match the List I with List II and select the correct answer using the codes given below: 
List I    List II 

A. M.N.Roy   1. Gandhian plan 
 B. Shriman Narayan  2. Bombay Plan 

C. Eight industrialists 3. People’s Plan 
  A B C  

a. 2 3 1  
b. 3 1 2  
c.  1 3 2  
d.  3 2 1 
e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;jp fPNo nfhLf;fg;gl;Ls;s thpirapypUe;J rhpahd 
gjpiy Njh;e;njLf;fTk;. 

         gl;bay;  I      gl;bay; II 
A. vk;.vd;.uha;   1. fhe;jpa jpl;lk; 
B. =kd; ehuhad;  2. gk;gha; jpl;lk; 
C. vl;L njhopyjpgh;fs; 3. kf;fs; jpl;lk; 
  

  A B C  
a. 2 3 1  
b. 3 1 2  
c.  1 3 2  
d.  3 2 1 
e. tpil njhpatpy;iy 
 

39. The following one is not a source of the State Tax Revenue? 
a. Land Revenue  b. Motor vehicles Tax c. Entertainment Tax 
d. Corporate Tax  e. Answer not known 
fPNo fhzg;gLk; ,dq;fspy; khepy murpd; thp tUtha; %yk; ,y;yhjJ vJ? 
a. epytUtha;  b. Nkhl;lhh; thfd thp  c. nghOJNghf;F thp 
d. tzpf epWtd thp e. tpil njhpatpy;iy 
 

40. Name the following articles of the Indian Constitution authorizes the appointment of 
Finance Commission? 
a. Article 252  b. Articles 268  c. Article 272 
d. Article 280  e. Answer not known 
fPo;fz;l ,e;jpa murpayikg;Gr; rl;lj;jpd; gphpTfspy; epjpf;FO ve;j gphptpd; fPo; 
cUthf;fg;gl;lJ? 
a. gphpT 252  b. gphpT 268   c. gphpT 272 
d. gphpT 280  e. tpil njhpatpy;iy 
 

41. Match the List I with List II and select the correct answer using the codes given below: 
List  I   List II 

 A. NABARD   1. Industrial Finance or ( Loan) 
 B. HDFC   2. Micro Finance or (Loan) 
 C. IDBI   3. Housing Finance or (Loan) 
 d. SHG   4. Agriculture Finance or (Loan) 
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A B C D 
 a. 4 2 3 1 
 b. 3 1 2 4 
 c. 2 1 4 3 
 d 4 3 2 1 
 e.  Answer not known 

gl;bay; I I gl;bay; II cld; nghUj;jp fPNo nfhLf;fg;gl;Ls;s thpirapypUe;J rhpahd 
gjpiy Njh;e;njLf;fTk;. 

gl;bay;  I      gl;bay; II 
 A. NABARD   1. njhopy; epjp my;yJ (fld;) 
 B. HDFC   2. Ez;zpa epjp my;yJ (fld;) 
 C. IDBI   3. tPl;L epjp my;yJ (fld;) 
 d. SHG   4. tptrha epjp my;yJ (fld;) 
 
  A B C D 
 a. 4 2 3 1 
 b. 3 1 2 4 
 c. 2 1 4 3 
 d 4 3 2 1 
 e.  tpil njhpatpy;iy 

 
 

42. The date and year of launched the programme : “ Make in India”. 
a. March 25, 2012  b. April 20, 2014 c. September 25,2014 

d. December 12,2016 e. Answer not known 
 ,e;jpahtpy; nra;Aq;fs; jpl;lk; njhlq;fg;gl;l ehs; kw;Wk; Mz;L 

a. khh;r; 25, 2012  b. Vg;uy; 20, 2014  c. nrg;lk;gh; 25,2014 

d. brk;gh; 12,2016  e. tpil njhpatpy;iy 
 

43. Providing Urban Amenities in Rural Areas (PURA) scheme was launched in 2003 for 
______________ Rural Development Blocks. 
a. 2000 Blocks  b. 3000 Blocks  c. 5000 Blocks 
d. 6000 Blocks  e. Answer not known 
efh;g;Gwj;jpy; cs;s mbg;gil trjpfis fpuhkg;Gwj;jpy; toq;Fjy; (PURA) – 
jpl;lkhdJ 2003 y; ____________ fpuhk tsh;r;rp tl;lhuq;fspy; nray;gLj;jg;gl;lJ. 
a. 2000 tl;lhuq;fs;  b. 3000 tl;lhuq;fs;  c. 5000 tl;lhuq;fs; 
d. 6000 tl;lhuq;fs;  e. tpil njhpatpy;iy 
 

44. Which one of the following is correct? 
Assertion (A) : The first uprising against the alien rule broke out in  

Bengal in 1770 
Reason     (R) : The main cause was destructive famine and the exploitation of  

the farmers. 
 a. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
 b. (A) is true, but (R) is false 
 c. Both (A) and (R) are true and (R) is the correct explanation of (A) 
 d. (A) is false, but (R) is true 
 e. Answer not known 
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gpd;tUtdtw;Ws; vJ rhp? 
 $w;W  (A) : me;epa Ml;rpf;F vjpuhf ele;j Kjy; fpsh;r;rp 1770 y;  

tq;fhsj;jpy; ntbj;jJ. 
fhuzk; (R) : ,jw;fhd Kf;fpa fhuzk; mopit Vw;gLj;jpa gQ;rKk; kw;Wk;  

tptrhapfs; Ruz;lg;gl;lJk; MFk;. 
a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; my;y 
b. (A)  rhp Mdhy; (R) jtW 
c. (A) kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fk; 
d. (A)  jtW. Mdhy; (R) rhp 
e. tpil njhpatpy;iy. 

 
45. Assertion (A): Dadabai Naoroji organized the East India Association in London 

Reason     (R) : He wanted to influence the British Public opinion 
a. (A) and (R) are true and (R) is the correct explanation of (A) 

 b. (A) is true, but (R) is false 
 c. (A) is false, but (R) is true 
 d. (A) and (R) are true and (R) is not the correct explanation of (A) 
 e. Answer not known 

$w;W  (A) : jhjhgha; nesNuh[p fpof;fpe;jpaf; fofj;ij yz;ldpy;  
cUthf;fpdhh; 

fhuzk; (R) : gphpl;b~; nghJkf;fs; fUj;jpd; kPJ nry;thf;F Vw;gLj;j  
tpUk;gpdhh;. 

a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A)  rhp Mdhy; (R) jtW 
c.  (A) jtW. Mdhy; (R) rhp 
d.  (A)kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy. 

 
46 Choose the right matches: 

1. The prophet of Indian nationalism  -Raja Ram Mohan Roy 
2. To rouse pride of people in their Rich 

heritage gave a call ‘back to vedas’  - Swami Vivekananda 
3. R.G.Pradhan called him the father of 

Indian Nationalism    - Swanu Dayanand Saraswathi 
4. ‘Swaraj is my birth right’ is a statement of  - Bal Gangadhar Tilak 
a. 1 and 2 are correct b. 2 and 3 are correct  c. 3 and 4 are correct 
d. 1 and 4 are correct e. Answer not known 
rhpahdtw;iw nghUj;Jf: 
1. ,e;jpa Njrpaj;jpd; J}Jth;   - ,uh[h uhk; Nkhfd;uha; 
2. kf;fspd; rpwe;j ghuk;ghpaj;ij njhpe;J 

nfhz;L vOr;rp ngw Ntjq;fis 
Nehf;fp nry;Yk;     - Rthkp tpNtfhde;jh 

3. R.G. gpujhd; ,tiu ,e;jpa Njrpaj;jpd;  
je;ij vd;wioj;jhh;.    - Rthkp jahde;j ru];tjp 

4. Rauh[;ak; vdJ gpwg;Ghpik vd;W 
$wpath;      - ghy fq;fhjh; jpyfh; 

 a. 1 kw;Wk; 2 rhp  b. 2 kw;Wk; 3 rhp  c. 3 kw;Wk; 4 rhp 
 d. 1 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 
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47 Who said the following words? 
‘Melt the iron and make steel, forge machines’ 
a. V.O.Chidambaranar b. Bhagat Singh  c. Subramania Bharathi 
d. Subash Chandra Bose e. Answer not known 
gpd; tUk; thh;j;ijfisf; $wpath; ahh;? 
,Uk;ig cUf;fp v/F cUthf;fp cWjpahd ,ae;jpuq;fis cUthf;F 
a. t.c.rpjk;gudhh;  b. gfj;rpq;  c. Rg;ukz;a ghujp 
d. Rgh~; re;jpu Ngh]; e. tpil njhpatpy;iy 

 
48 Who said the following words? 

“ If freedom could be attained without violence it was well and good, if not, the nation 
has the right to expel the foreigner by force”. 
a. Bhagat Singh  b. Maulana Abul Kalam Azad 
c. Subash Chandra Bose d. Gurdial Singh Dhillon  e. Answer not known 
“td;Kiwapy;yhky; tpLjiy mile;Jtpl;lhy; kpf ey;yJ. ,y;iy vd;why; Njrj;jpw;F 
gilia itj;J me;epaiu tpul;Lk; chpik cz;L. 
a. Gfj;rpq;   b. nksyhdh mGy; fyhk; Mrhj; 
c. Rgh~; re;jpu Ngh]; d. Fh;jpahy; rpq; jpyhd; e. tpil njhpatpy;iy 
 

49 The technique of Satyagraha included various methods. 
Which of the following was/were not included by Gandhi? 
i) Fasting ii) Hartals iii) Scroched earth policy iv) Underground activities 
a. (i) and ( iv)  b. (iii) and (iv)  c. (i) and (iii) 
d. (ii) and (iv) e. Answer not known 
rj;jpahfpuf cj;jp gy;NtW Kiwfis cs;slf;fpaJ 
gpd;tUtdtw;Ws; vJ/ vit fhe;jpahy; Nrh;f;fg;gltpy;iy? 
i) cz;zhtpujk;  ii) Ntiy epWj;jk;  iii) vhpe;j G+kp nfhs;if 
v) epyj;jb eltbf;iffs; 
a. (i) kw;Wk; ( iv)  b. (iii) kw;Wk; (iv)  c. (i) kw;Wk; (iii) 
d. (ii) kw;Wk; (iv) e. tpil njhpatpy;iy. 
 

50 Which of the following statement /s is / are true? 
Assertion [A] : The Aligarh Movement became communal under 

 Sir Syed Ahmad Khan’s guidance, which helped in  
 the creation of Pakistan. 

Reason    [R] : Sir Syed Ahmad Khan depended on the British for his activities  
and the British brought in Muslim communalism. 

a. [A] and [R] are true [R] is the correct explanation of [A] 
 b. [A] is true, but [R]  is false 
 c. [A] and [R] are true [R] is not the correct explanation of [A] 
 d. [A] is false [R] is true 
 e. Answer not known 

gpd;tUtdtw;Ws; vf; fUj;Jfs; rhp? 
$w;W   (A) : mypfhh; ,af;fk; rh; iraj mfkj; fhd; jiyikapd; fPo;  

tFg;Gthjj;ij cUthf;fpaJ. mJ ghfp];jhd; cUthtjw;F 
cWJiz nra;jJ. 

fhuzk;  (R) : rh; iraj; mfkj; fhd; jd;Dila eltbf;iffSf;F  
gphpl;b~hiu rhh;e;J ,Ue;jhh;. ,J gphpl;b~hh; K];yPk; tFg;Gthjk; 
nfhz;L tu itj;jJ. 
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a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A)  rhp Mdhy; (R) jtW 
c.  (A)kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
d.  (A) jtW. Mdhy; (R) rhp 
e. tpil njhpatpy;iy. 

 
51 One among the following inscriptions speaks about the village administrations of the 

Pallavas. 
a. Manur Inscription  b. Thiruchirapalli Inscription 
c. Kalugumalai Inseription  d. Ervadi Inscription 
e. Answer not known 
fPo;tUtdtw;Ws; xd;W gy;ytu;fsJ fpuhk epu;thfj;ijf; $Wk; fy;ntl;L MFk;. 
a. khD}u; fy;ntl;L   b. jpUr;rpuhg;gs;sp fy;ntl;L 
c. fOFkiy fy;ntl;L  e. Vu;thb fy;ntl;L 
e. tpil njupatpy;iy 
 

52 Assertion (A): The trade contacts of the Tamils with the Roman Empire. 
Reason (R): The Roman Pottery and gold coins unearthed in the Arikkamedu 
excavation  
a. A and R are true, and R is correct explanation of A 
b. A is true, but R is false 
c. A and R are false 
d. A is false but R is true 
e. Answer not known 
$w;W (A): jkpou;fs; Nuhkhdpau;fSld; thzpgj; njhlu;G nfhz;bUe;jdu;. 
fhuzk; (R): Nuhkd; ehl;L ghis XLfSk; jq;f ehzaq;fSk; mupf;fNkl;by; ele;j 
mfo;tha;tpy; fpilj;Js;sd. 
a. A kw;Wk; R ,uz;Lk; rup> NkYk; R vd;gJ A tpw;fhd rupahd tpsf;fkhFk; 
b. A rup Mdhy; R jtW 
c. A kw;Wk; R ,uz;Lk; jtW 

d. A jtW Mdhy; R rup 
e. tpil njupatpy;iy 
 

53. Match the Following and select the correct answer: 
Poets    Region 

A. Marudhanar  1. Orakadam (Chengai) 
B. Vanganar   2. Edaikadu (Kumari) 
C. Kadanar   3. Alangudi (Pudukottai) 
D. Kandarathanar  4. Kurungudi (Nellai) 

A B C D 
 a. 2 1 4 3 
 b. 4 3 2 1 
 c. 1 2 3 4 
 d. 4 2 3 1 
 e. Answer not known  

fPo;fz;ltw;iw nghUj;jp rupahd tpiliaj; Nju;f 
Gytu;fs;   gFjpfs; 
A. kUjdhu;   1. Xuflk; (nrq;if) 
B. tq;fdhu;   2. ,ilf;fhL (Fkup) 
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C. fhldhu;   3. Myq;Fb (GJf;Nfhl;il) 
D. fe;juj;jdhu;  4. FUq;Fb (ney;iy) 

A B C D 
 a. 2 1 4 3 
 b. 4 3 2 1 
 c. 1 2 3 4 
 d. 4 2 3 1 

e. tpil njupatpy;iy 
 

54. Match List I with List II and select the correct answer: 
List I (Works)   List II (Authors) 
A. Periyapuranam   1. Avvaiyar 
B. Konrai Venthan   2. Jayamkondar 
C. Kalingathuparani  3. Gangadevi 
D. Madura Vijayam   4. Sekkilar 

A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 2 3 4 1 
d. 4 3 2 1 
e. Answer not known 
tupir I I tupir II cld; nghUj;jp tpilia fhz;f. 
tupir I (gilg;Gfs;)   tupir II (Mrpupau;fs;) 
A. ngupaGuhzk;    1. Xsitahu; 
B. nfhd;iw Nte;jd;   2. n[aq;nfhz;lhu; 
C. fypq;fj;Jg;guzp    3. fq;fhNjtp 
D. kJuhtp[ak;    4. Nrf;fpohu; 

A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 2 3 4 1 
d. 4 3 2 1 
e. tpil njupatpy;iy 

 
55. Which one of the following work is not related to Bharathidasan? 

a. Pandian Parisu  b. Azhakin Sirippu  c. Malarum Malaiyum 

d. Irundaveedu  e. Answer not known 
fPo;f;fz;l $w;Wfspy; ghujpjhrdplk; njhlu;gpy;yhj E}y; vJ? 
a. ghz;bad; gupR  b. morpd; rpupg;G  c. kyUk; khiyAk; 
d. ,Uz;l tPL  e. tpil njupatpy;iy 

 
56. Assertion (A): Thirukkural is influence on our every day life 

Reason (R): Through it, Human beings can follow the principles of non-
violence, castelessness secularism and Brotherhood. 

a. A is true but R is wrong  
b. A is wrong but R is true 
c. Both A and R are wrong 
d. Both A and R are true and R is correct explanation of A 
e. Answer not known 
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$w;W (A): jpUf;Fws; kdpju;fspd; md;whl tho;f;ifapy; jhf;fj;ij 
Vw;gLj;JfpwJ. 

fhuzk; (R): kdpju;fs; jpUf;Fwspd; %yg;nghUshd mfpk;ir> kjr;rhu;gpd;ik, 
rNfhjuj;Jtk; Mfpatw;iw gpd;gw;Wfpd;wdu;. 

a. A rup Mdhy; R jtW 
b. A jtW Mdhy; R rup 
c. A kw;Wk; R ,uz;Lk; jtW 
d. A kw;Wk; R ,uz;Lk; rup NkYk; R> A tpw;fhd rupahd tpsf;fkhFk; 
e. tpil njupatpy;iy 
 

57. “……are the eyes of all human beings”. 
In the above Thirukkural, one among the below are identified by Thiruvalluvar as the 
eyes of all human beings. 
a. Virtue and wealth  b. Impartiality and self control 
c. Wealth and love   d. Numbers and letters 
e. Answer not known 
“….. apt;tpuz;Lk; fz;nzz;g thOk; capu;f;F”. 
Nkw;fhZk; jpUf;Fwspy; ,e;j ,uz;il jpUts;Stu; fz;fSf;F xg;ghff; $Wfpwhu;. 
a. mwKk; nghUSk;   b. eLTepiyikAk; mlf;fKilikAk; 
c. nghUSk; ,d;gKk;  d. vz;Zk; vOj;Jk; 
e. tpil njupatpy;iy 
 

58. (i) “What is called Truth of True word…” 
(ii) “External cleanliness can be had by use of …” 
Considering both the above Thirukkurals together, which one of the following would 
be the most important outcome?  
a. falsehood   b. truthfulness  c. external cleanliness 
d. blameless good  e. Answer not known 
(i) “ngha;ikAk; tha;ik aplj;j…..” 
(ii) “Gwj;J}a;ik ePuhyikA kfe;J}a;ik….” 
,t;tpuz;L Fws;fisAk; xU Nru kdjpy; nfhz;L fPo;f;fz;l ve;j tpisT kpFe;j 
Kf;fpaj;Jtk; cs;sjhff; fUJtPu;? 
a. ngha;ik   b. tha;ik   c. Gwe;J}a;ik 
d. Giu jPu;e;j ed;ik e. tpil njupatpy;iy 
 

59. Which of the following European wars is associated with first Carnatic war? 
a. The seven years war  b. The Austro-Prussian war 
c. The war of Roses   d. The war of the Austrian succession 
e. Answer not known 
Kjy; fh;ehlfg; Nghupd; NghJ INuhg;ghtpy; ele;j Nghu; vJ? 
a. Vohz;Lg;Nghu;   b. M];jphpah-gpu];ag;Nghu; 
c. Nuh[hg;G+ Nghu;   d. M];jpupa thupRupikg;Nghu; 
e. tpil njupatpy;iy 
 

60. Arrange the following in chronological order 
1. Vellore Mutiny 
2. Executed the hanging of Kattabomman 
3. Palani conspiracy 
4. Treaty of Pondichery 
a. 1, 2, 3, 4   b. 4, 3, 2, 1  c. 2, 3, 4, 1 
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d. 4, 2, 3, 1   e. Answer not known 
fPo;f;fz;ltw;iw fhy tupirg;gLj;jp tpilia Nju;e;njL: 
1. NtY}u; fyfk; 
2. fl;lnghk;kid J}f;fpypLjy; 
3. godp rjpjpl;lk; 
4. ghz;br;Nrup cld;gbf;if 
a. 1, 2, 3, 4   b. 4, 3, 2, 1  c. 2, 3, 4, 1 
d. 4, 2, 3, 1   e. tpil njupatpy;iy 

 
61. Name the Person who presided over the Nineth conference of the Madras Constituency 

of the All India Women’s conference of the year 1934. 
a. Dr. Muthulakshmi Reddy  b. Mrs. Margaret Cousins 
c.  Begum Shareejah Hamid Ali  d. Mrs. Annie Besant 
e. Answer not known 
1934 k; Mz;L nkl;uh]; njhFjpapy; eilngw;w xd;gjhtJ ngz;fs; khehl;Lf;F 
jiyik jhq;fpa ngz;kzpapd; ngaiuf; Fwpg;gpLf. 
a. lhf;lu; Kj;Jnyl;Rkp nul;b  b. jpUkjp. khh;f;nfu;l; frpd;]; 
c. Ngfk; ~up[h `kpj; myp  d. jpUkjp. md;dpngrd;l; 
e. tpil njupatpy;iy 
 

62. Which one of the following statements is not true? 
a. Justice party won 63 out of 98 elective seats in Legislative Council 
b. A. Subburayan became the first Chief Minister of Madras Presidency 
c. The election was held based on 1919 Act 
d. Indian National Congress was totally defeated by Justice Party in 1920  election 
e. Answer not known 
fPo;fz;ltw;Ws; vJ cz;ikahd $w;W my;y? 
a. rl;l Nkyitapy; ePjpf;fl;rp 98 f;F 63 Nju;jy; ,lq;fis ntd;wJ 
b. nrd;id khfhzj;jpy; A. Rg;Guhad; Kjy; Kjyikr;ruhf Mdhu; 
c. 1919-Mk; Mz;L rl;lj;jpd; mbg;gilapy; Nju;jy; eilngw;wJ 
d. 1920-Mk; Mz;Lj; Nju;jypy; ePjpf;fl;rp fhq;fpu]; fl;rpia KOikahf Njhw;fbj;jJ 
e. tpil njupatpy;iy 
 

63. What was the main objective of the Justice Party? 
a. To fight against the Muslim League 
b. To secure greater and due representation for Non Brahmins in Government 
Services 
c. To free the Peasants from the tyranny of Zamindars 
d. To discuss the public questions 
e. Answer not known 
ePjpf;fl;rpapd; Kf;fpakhd Nehf;fk; vJ? 
a. K];yPk; yPf;fpw;F vjpuhfg; NghuhLjy; 
b. muRg; gzpfspy; gpuhkzu; my;yhjtu;fis gq;Nfw;fr; nra;jy; 
c. [kpd;jhh;fspd; ru;thjpfhuj;jpypUe;J tptrhapfis fhg;ghw;wjy; 
d. nghJg; gpur;rid gw;wp tpthjp 
e. tpil njupatpy;iy 
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64. Assertion (A): E.V. Ramasamy was one of the great social reformer of the twentieth 
century in Tamil Nadu. 

Reason (R): He started Self-Respect movement in an attempt safeguard the 
downtrodden communities. 

a. A and R are true, and R is correct explanation of A 
b. A is true, but R is false 
c. A and R are false 
d. A is false but R is true 
e. Answer not known 
$w;W (A): E.V. ,uhkrhkp 20-k; E}w;whz;bd; rpwe;j r%f rPu;jpUj;jthjpahthu;;. 
fhuzk; (R): mtu; Rakupahij ,af;fj;jpd; %yk; xJf;fg;gl;l kf;fspd; 

eyidf; fhf;f ghLgl;lhu;. 
a. A kw;Wk; R ,uz;Lk; rup> NkYk; R vd;gJ A tpw;fhd rupahd tpsf;fkhFk; 
b. A rup Mdhy; R jtW 
c. A kw;Wk; R ,uz;Lk; jtW 
d. A jtW Mdhy; R rup 
e. tpil njupatpy;iy 
 

65. Which of the following statement is false about E.V. Ramasamy? 
a. E.V. Ramasamy is known as “Hero of Vaikkam” 
b. He accepted the “Gurukula” system 
c. He was the founder of Self Respect Movement 
d. He accept the Self Respect Marriage 
e. Answer not known 
fPo;f;fz;l $w;Wfspy; E.V. ,uhkrhkp gw;wpa jtwhd $w;W vJ? 
a. E.V. ,uhkrhkp “itf;fk; tPuh;” vd miof;fg;gLfpwhu; 
b. ,tu; “FUFy” fy;tp Kiwia Mjupj;jhu; 
c. ,tu; “Rakhpahij ,af;fj;ij” Njhw;Wtpj;jhu; 
d. ,tu; “Rakupahij jpUkzj;jpw;F” MjuT je;jhu; 
e. tpil njupatpy;iy 
 

66. The index which combines social indicators of life expectancy, literacy and income of the 
people is called 

a. Basic need index    b. Purchasing power index 
c. Human development index  d. Welfare index 
e. Answer not known 
rKjha fhuzpfshd xUtu; capu; thOk; tha;g;Gs;s fhy msT> fy;tp mwpT kw;Wk; 
tUkhdk; Mfpaitfis nfhz;L fzpf;Fk; FwpaPL 
a. mj;jpahtrpa Njit FwpaPL  b. thq;Fk; jpwd; FwpaPL 
c. kdpj Nkk;ghl;L FwpaPL   d. ey FwpaPL 
e. tpil njupatpy;iy 
 

67. Match the List I with II and select the correct answer using the codes given below: 
List I     List II 
A. Theosophical society  1. 1865 
B. Suddhi Movement  2. 1897 
C. Ramakrishna Mission  3. Madam Blavatsky 
D. Samaraja Suddha Sanmarg 4. Dayanand Saraswati 
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A B C D 
a. 3 4 2 1 
b. 2 1 3 4  
c. 4 2 3 1 
d. 3 4 1 2 
e. Answer not known 
gl;bay; - I kw;Wk; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rupahd tpilia Nju;T 
nra;f: 
gl;bay; - I    gl;bay; - II 
A. jpNahNrhgpfy; rq;fk;  1. 1865 
B. Rj;jp ,af;fk;   2. 1897 
C. ,uhkfpU~;z kp~d;  3. Nklk; gpsthl;];fp 

D. rkur Rj;j rd;khh;f;fk;  4. jahde;j ru];tjp 
A B C D 

a. 3 4 2 1 
b. 2 1 3 4  
c. 4 2 3 1 
d. 3 4 1 2 
e. tpil njupatpy;iy 

 
68. “Law and rules are only for the people, people are not for the law and the rules” said by 

a. Annadurai   b. Periyar E.V. Ramasamy  c. Rajaji 
d. Kamaraj  e. Answer not known 
“rl;lKk; tpjpfSk; kf;fSf;fhf jhd;> Mdhy; kf;fs; rl;lj;jpw;fhfTk; tpjpfSf;fhfTk; 
my;y” vd;W $wpatu; 
a. mz;zhJiu  b. ngupahhu; <.Nt. uhkrhkp  c. uh[h[p 
d. fhkuhru;  e. tpil njupatpy;iy 

 
69. In Tamil Nadu the first ever celebration of May Day was organized in 1923 by 

a. Singaravelar  b. E.V.R  c. Kamarajar 
d. Rajaji  e. Answer not known 
jkpo;ehl;by; 1923 Mk; Mz;by; Nk jpdj;jpd; Kjy; nfhz;lhl;lk; _________ Vw;ghL 
nra;ag;gl;lJ. 
a. rpq;fhuNtyu;  b. <.Nt.uh  c. fhkuh[u; 
d. uh[h[p  e. tpil njupatpy;iy 

 
70. India Brand Equity Foundation (IBEF) is established by 

a. Ministry of Finance   
b. Ministry of Commerce and Industry 
c. Ministry of Information Technology 
d. Ministry of Human Resource Development 
e. Answer not known 
‘,e;jpa Kj;jpiu gyk; mikg;G’- ahuhy; epWtg;gl;lJ? 
a. epjp mikr;rfk; 
b. thzpgk; kw;Wk; njhopy; mikr;rfk; 
c. jfty; njhopy;El;g mikr;rfk; 
d. kdpj ts tsu;r;rp mikr;rfk; 
e. tpil njupatpy;iy 
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71. Match the List I with II and select correct answer using the codes given below: 
List I     List II 

Programme    Ministry of 
A. Swajal Programme  1. Culture 
B. Samagra Siksha   2. Human resource Development 
C. Seva Bhoj Youana  3. Communications 
D. Sampoorna Bima Gram  4. Drinking Water and Sanitation 

Yojana 
  A B C D 
 a. 3 1 2 4 
 b. 2 3 4 1 
 c. 1 4 3 2 
 d. 4 2 1 3 

e. Answer not known 
gl;bay; - I kw;Wk; II I nghUj;jp fPNo nfhLf;fg;gl;Ls;s rupahd tpiliaj; Nju;T 
nra;f 
gl;bay; I    gl;bay; II 
jpl;lk;     mikr;rfk; 
A. Rth[y; jpl;lk;   1. gz;ghl;L 
B. rkf;uh rpf;~h   2. kdpjts Nkk;ghL 
C. Nrth Ngh[; Nah[dh  3. Jfty; njhlu;G 
D. rk;G+u;z gPkh fpuhk; Nah[dh 4. FbePu; kw;Wk; Rfhjhuk; 

A B C D 
 a. 3 1 2 4 
 b. 2 3 4 1 
 c. 1 4 3 2 
 d. 4 2 1 3 

e. tpil njupatpy;iy 
 

72. The function of ensuring the availability of drugs and medical facilities at all 
Government Medical Institutions in Tamil Nadu is under the control of 

a. Directorate of Medical Education 
b. Directorate of Medical and Rural Health Services 
c. Tamil Nadu Medical Services Corporation Limited (TNMSC) 
d. Directorate of Public Health and Preventive Medicine 
e. e. Answer not known 

jkpo; ehl;by; cs;s midj;J nghJ Rfhjhu ikaq;fspYk; kUe;Jfs; kw;Wk; kUe;Jt 
Nritfs; fpilg;gij cWjp nra;Ak; mikg;G 
a. kUj;Jt fy;tp ,af;Feufk; 
b. kUj;Jt kw;Wk; fpuhkg;Gw Rfhjhu Nritfs; ,af;Feufk; 
c. jkpo;ehL kUj;Jt gzpfs; fofk; 
d. nghJ Rfhjhu kw;Wk; jLg;G kUj;Jt ,af;Feufk; 
e. tpil njupatpy;iy 
 

73. Kodiveri Dam is constructed across 
a. Noyal River   b. Bhavani River  c. Cauvery River 
d. Thamirabarani River e. Answer not known 
‘nfhbNtup miz’ ve;j ejpapd; FWf;Nf fl;lg;gl;Ls;sJ? 
a. neha;ay; MW  b. gthdp MW  c. fhtpup MW 



 

20 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     

http://www.appolosupport.com/ 
 

d. jhkpuguzp MW  e. tpil njupatpy;iy 
 

74. In Tamil Nadu Indira Gandhi National Park (Anamalai Tiger Reserve) is located at 
________ District/s. 
a. Coimbatore and Tiruppur  b. Nilgiris  c. Elagiri 
d. Kodaikanal    e. Answer not known 
jkpofj;jpy; ,e;jpuh fhe;jp Njrpa G+q;fh (Midkiy Gypfs; fhg;gfk;) mike;Js;s 
khtl;lk;/khtl;lq;fs; 
a. Nfhak;Gj;J}u; kw;Wk; jpUg;G+u;  b. ePy;fpup];  c. Vyfpup 
d. nfhilf;fhdy;    e. tpil njupatpy;iy 

 
75. Tamil Nadu accounts for ________% of India’s software exports in January, 2020 

a. 16.05%   b. 17.00%   c. 18.05% 
d. 19.00%  e. Answer not known 
[dtup 2020-y; ,e;jpahtpd; nkd;nghUs; Vw;Wkjpapy; jkpo; ehl;bd; gq;fspg;G _______ 
rjtPjk; MFk;. 
a. 16.05%   b. 17.00%   c. 18.05% 
d. 19.00%  e. tpil njupatpy;iy 
 
 

76. 900 boys and 600 girls appeared in an examination of which 70% of the boys and 85% of 
the girls Passed in the examination. Find the total percentage of students who did not 
pass. 

a. 24%   b. 25%     c. 28% 
d. 30% e. Answer not known 
xU Nju;it 900 khztu;fSk; 600 khztpfSk; vOjpdhu;fs;. me;jj; Nju;tpy; 70% 
khztu;fSk; 85% khztpfSk; Nju;r;rp ngw;wdu; vdpy;> Nju;r;rp ngw;wdu; vdpy;> Nju;r;rp 
ngwhj khzt> khztpfspd; rjtPjj;ijf; fhz;f. 
a. 24%   b. 25%     c. 28% 
d. 30% e. tpil njupatpy;iy 

 
77. Ramu scored 40 out of 50 marks in Tamil, 20 out of 25 marks in English, 30 out of 40 

marks, in Science and 68 out of 80 marks in Mathematics. In which subject his percentage 
of Marks is best? 

a. Tamil  b. English   c. Science 
d. Mathematics e. Answer not known 
uhK vd;gtu; jkpo; ghlj;jpy; 50 f;F 40 kjpg;ngz;fSk;> Mq;fpy ghlj;jpy; 25f;F 20 
kjpg;ngz;fSk;> mwptpay; ghlj;jpy; 40f;F 30 kjpg;ngz;fSk;> fzpjg; ghlj;jpy; 80f;F 
68 kjpg;ngz;fSk; ngw;whu; vdpy; mtu; ve;jg; ghlj;jpy; rpwe;j rjtPjk; ngw;Ws;shu;? 
a. jkpo;  b. Mq;fpyk;   c. mwptpay; 
d. fzpjk;  e. tpil njupatpy;iy 
 

78. In a leadership election between two persons A and B, A wins by a margin of 192 votes. 
If A gets 58% of the total votes, find the total votes polled. 

a. 1000 votes   b. 1050 votes   c. 1100 votes 
d.1200 votes  e. Answer not known 
xU jiyikiaj; Nju;e;njLf;Fk; Nju;jypy; A kw;Wk; B Mfpa ,U egu;fspy; A 
Mdtu; 192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhu;. nkhj;j thf;Ffspy; A Mdtu; 
58% Ig; ngWfpwhu; vdpy;> gjpthd nkhj;j thf;Ffs; vt;tsT? 
a. 1000 thf;Ffs;   b. 1050 thf;Ffs;  c. 1100 thf;Ffs;   
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d.1200 thf;Ffs;   e. tpil njupatpy;iy 
 

79. The product of 2 two digit numbers is 300 and their H.C.F. is 5 then the two numbers are 
a. 30, 20   b. 25,12   c. 10,30 
d. 15, 20  e. Answer not known 
,uz;L <upyf;f vz;fspy; ngUf;fw;gyd; 300 kw;Wk; mtw;wpd; kP.ngh.fh. 5 vdpy; 
mt;ntz;fs; ahit? 
a. 30, 20   b. 25,12   c. 10,30 
d. 15, 20   e. tpil njupatpy;iy 
 

80. A positive integer when divided by 88 gives the remainder 61. When the same number 
is divided by 11 its remainder is  

a. 0    b. 2    c. 4 
d. 6  e. Answer not known 
xU kpif KOit 88 My; tFf;Fk; NghJ kPjp 61 fpilf;fpwJ. mNj kpif KOit 
11 My; tFf;Fk;NghJ fpilf;Fk; kPjp ahJ? 
a. 0    b. 2    c. 4 
d. 6    e. tpil njupatpy;iy 
 

81. Find the LCM of 5 10x −  and 2
5 20x −  

a. 5(x - 2)   b. 5(x + 2)  c. (x - 2) (x + 2) 
d. 5 (x - 2)(x + 2)  e. Answer not known 

kP.ngh.k fhz;f: 5 10x −  , 2
5 20x −  

a. 5(x - 2)   b. 5(x + 2)  c. (x - 2) (x + 2) 
d. 5 (x - 2)(x + 2)  e. tpil njupatpy;iy 

 
82. Find the LCM: 

2 2 2
16 , 12 ,8m m n n−  

a. -16 mn   b. -16 2 2
m n    c. -48 2 2

m n  

d. 48 2 2
m n   e. Answer not known 

kP.ngh.k. fhz;f: 
2 2 2

16 , 12 ,8m m n n−  

a. -16 mn   b. -16 2 2
m n    c. -48 2 2

m n  

d. 48 2 2
m n    e. tpil njupatpy;iy 

 
83. A heater used 3 units of electricity in 40 minutes. How many units does it consume in 2 

hours? 
a. 9 units   b. 10 units   c. 11 units 
d. 12 units   e. Answer not known 
xU #Nlw;wp 40 epkplq;fspy; 3 myFfs; kpd;rhuj;ij gad;gLj;JfpwJ. ,uz;L kzp 
Neuj;jpy; vj;jid myFfs; kpd;rhuj;ij gad;gLj;Jk; 
a. 9 myFfs;   b. 10 myFfs;  c. 11 myFfs;   
d. 12 myFfs;   e. tpil njupatpy;iy 

 
84. 25% of 25% is 

a. 6.25    b. 0.625   c. 0.0625 

d. 0.00625  e. Answer not known 
25% ,d; 25% vd;gJ 
a. 6.25    b. 0.625   c. 0.0625 
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d. 0.00625   e. tpil njupatpy;iy 
 

85. Calculate the number of years on which the amount Rs. 16,500/- is matured to Rs. 
22,935/- at the rate of simple interest 13% per annum. 
a. 2  b. 3  c. 4  d. 5  e. Answer not known 
Mz;Lf;F 13% jdptl;b tPj;jpy; xU njhif &. 16>000/- y; ,Ue;J vj;jid Mz;Lfspy; 
&. 22>935/- Mf caUk;? 
a. 2  b. 3  c. 4  d. 5  e. tpil njupatpy;iy 

 
86. An amount at the rate of simple interest 12% per annum matured to Rs. 17,000/- in 3 

years then find out the principal amount. 
a. Rs. 12, 500/-  b. Rs. 13, 000/-  c. Rs. 14, 500/- 
d. Rs 13, 300/-  e. Answer not known 
xU njhifahdJ 3 Mz;Lfspy; 12% jdp tl;b tPjj;jpy; njhif &.17>000/- Mff; 
fpilf;fpwJ vdpy; me;j mriyf; fhz;f. 
a. Rs. 12, 500/-  b. Rs. 13, 000/-  c. Rs. 14, 500/- 
d. Rs 13, 300/-  e. tpil njupatpy;iy  
 

87. There is 50% increase in an amount in 4 years at simple interest. What will be the 
compound interest of Rs. 10, 000 after 3 years? 

a. Rs. 3, 842   b. Rs. 4, 238   c. Rs. 2, 438 
d. Rs. 3, 482   e. Answer not known 
xU njhif jdptl;bapy; 4 Mz;Lfspy; 50% mjpfupj;jhy;> &.10>000f;F 3 Mz;Lfspy; 
fpilf;Fk; $l;L tl;b ahJ? 
a. &. 3, 842   b. &. 4, 238   c. &. 2, 438 
d. &. 3, 482   e. tpil njupatpy;iy 
 

88. The present height of a tree is 847 cm if its height increased at 10% per annum. The hight 
of the tree two years ago is  

a. 770 cm   b. 700 cm   c. 630 cm 
d. 560 cm   e. Answer not known 
xU kuj;jpd; jw;Nghija cauk; 847 nr.kP mJ Mz;Lf;F 10% tPjk; tsu;fpwJ vdpy;> 
2 Mz;LfSf;F Kd; mjd; cauj;ijf; fhz;f. 
a. 770 nr.kP   b. 700 nr.kP   c. 630 nr.kP 
d. 560 nr.kP   e. tpil njupatpy;iy 
 

89. Find the volume of a cylinder whose height is 35 cm and whose base area is 70 m2 

a.  200 2
cm    b. 200 3

cm    c. 2450 3
m  

d. 24.5 3
m    e. Answer not known 

Xu; cUisapd; cauk; 35 nr.kP kw;Wk; mjd; mbg;gug;G 70 kP2> vdpy; mjd; fd msT 
ahJ? 
a.  200 nr.kP2   b. 200 nr.kP3    c. 2450 kP3  
d. 24.5 kP3   e. tpil njupatpy;iy 
 

90. The area of a circle is 110 sq.cm. The area of a square inscribed in this circle will be? 

a. 77 2
cm    b. 35 2

cm    c. 70 2
cm  

d. 2
2 35cm    e. Answer not known 
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xU rJuk; tl;lj;jpDs; mjd; ehd;F KidfSk; njhLkhW mike;Js;sJ. 
mt;tl;lj;jpd; gug;G 110 r.nr.kP vdpy; mjDs; mike;J rJuj;jpd; gug;gsT ahJ. 
a. 77nr.kP2   b. 35nr.kP2   c. 70nr.kP2  

d. 2 35 nr.kP2   e. tpil njupatpy;iy 

 
91. The length of the rope by which a cow must be tethered in order that it may be able to 

graze an area of 9856 square meter is 
a. 7 metres   b. 8 metres   c. 15 metres 
d. 56 metres   e. Answer not known 
fapw;why; fl;lg;gl;l khL Nka;e;j gFjpapd; gug;gsT 9856 rJu kPl;lu; vdpy; fapw;wpd; 
ePsk; 
a. 7 kPl;lu;   b. 8 kPl;lu;   c. 15 kPl;lu; 
d. 56 kPl;lu;   e. tpil njupatpy;iy 

 
92. A is twice as good a workman as B and together they finish a piece of work in 24 days. 

In how many days will A alone finish the work? 
a. 36 days  b. 48 days   c. 30 days 
d. 32 days  e. Answer not known 
A vd;gtu; B Ig; Nghy; ,U klq;F Ntiy nra;gth;> NkYk; mtu;fs; ,UtUk; 
,ize;J xU Ntiyia 24 ehl;fspy; Kbg;ghu; vdpy; A kl;Lk; mt;Ntiyia Kbf;f 
vj;jid ehl;fshFk;? 
a. 36 ehl;fs;   b. 48 ehl;fs;   c. 30 ehl;fs; 
d. 32 ehl;fs;   e. tpil njupatpy;iy 
 

93. 4 man and 3 women can earn Rs. 12, 500 in 5 days. 10 men and 6 women can earn Rs.17, 
400 in 3 days. In what time will 5 men women earn Rs. 35,000/-? 

a. 6 days  b. 8 days   c. 10 days 

d. 12 days  e. Answer not known 
4 Mz;fs; kw;Wk; 3 ngz;fs; &.12>500 I 5 ehl;fspy; tUkhdk; <l;Lfpwhu;fs;. 10 
Mz;fs; kw;Wk; 6 ngz;fs; &. 17>400-I 3 ehl;fspy; tUkhdk; <l;Lfpwhu;fs;> vdpy; 5 
Mz;fs; kw;Wk; 5 ngz;fs; &. 35>000/- I tUkhdkhf <l;l vj;jid ehl;fshFk;? 
a. 6 ehl;fs;  b. 8 ehl;fs;   c. 10 ehl;fs; 
d. 12 ehl;fs;  e. tpil njupatpy;iy 
 

94. There are 10 true or false questions in an examination, then these question can be answer 
in 

a. 120 ways  b. 240 ways   c. 1024 ways 
d. 512 ways  e. Answer not known 
xU Nju;tpy; 10 tpdhf;fs; rupah? jtwh? vd;w tifapy; cs;sJ vdpy;> 
mt;tpdhf;fSf;F vj;jid tifapy; tpilaspf;f KbAk;? 
a. 120 topfs;  b. 240 topfs;  c. 1024 topfs; 
d. 512 topfs;  e. tpil njupatpy;iy 
 

95. Find the range of the following distribution. 

Age (in yrs) 16-18 18-20 20-22 22-24 24-26 26-28 

No. of students 0 4 6 8 2 2 

a. 8 years   b. 6 years   c. 12 years 
d. 10 years   e. Answer not known 
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fPo;fz;l gl;baypd; tptuq;fisf; nfhz;L> mjd; tPr;irf; fhz;f. 
taJ 
(Mz;Lfspy;) 

16-18 18-20 20-22 22-24 24-26 26-28 

khztu;fspd; 
vz;zpf;if 

0 4 6 8 2 2 

a. 8 Mz;Lfs;   b. 6 Mz;Lfs;   c. 12 Mz;Lfs; 
d. 10 Mz;Lfs;  e. tpil njupatpy;iy 

 
96. If the words STOP, PEN and NEAR indicate 24, 10, 12.  Then how will the word “ROSE” 

be indicated? 
a. 19    b. 20    c. 18 
d. 22    e. Answer not known  
STOP = 24; PEN = 10; NEAR = 12 vdf; Fwpg;gpl;lhy; ROSE vd;gij vt;thW 
Fwpg;Nghk;? 
a. 19    b. 20    c. 18 
d. 22    e. tpil njupatpy;iy 

 
97. If “LIFE” is coded as “2965” then “SAVE” will be coded as 

a. 1912  b. 1901   c. 9125 

d. 9120  e. Answer not known 
xU Fwpg;gpl;l FwpaPL nkhopapy; “LIFE” vd;w thu;j;ijf;F “2965” vd;W FwpaPLr; 
nra;ag;gl;lhy; “SAVE” vd;w thu;j;ijapd; FwpaPL ahJ? 
a. 1912  b. 1901   c. 9125 

d. 9120  e. tpil njupatpy;iy 
 

98. Find the sum of 
3 + 5 + 7 + …. +71 
a. 1296   b. 1295   c. 1294 
d.1286    e. Answer not known 
$Ljy; fhz;f 
3 + 5 + 7 + …. +71 
a. 1296   b. 1295   c. 1294 
d.1286    e. tpil njupatpy;iy 

 

99. If 3 3 3 3
1 2 3 .... k+ + + + =44100 then find 1 + 2 + 3 +…..+ k 
a. 210    b. 220    c. 225 
d. 230    e. Answer not known 

3 3 3 3
1 2 3 .... k+ + + + =44100 vdpy;> 1 + 2 + 3 +…. + k d; kjpg;Gf; fhz;f. 
a. 210    b. 220    c. 225 
d. 230    e. tpil njupatpy;iy 
 

100. In a magic square given below each row, column and diagonal should have the same, 
find the values of x, y and z 

1 -10 X 

y     -3 -2 

-6 4 z 

a. x= -7, y = -4, z =0   b. x = 0, y =-7, z = -4  c. x = 0, y = -4, z= -7 

d. x = -4, y = 0, z = -7  e. Answer not known 
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fPo;fhZk; khar; rJuj;jpy; epiu> epuy; kw;Wk; %iy tpl;lj;jpy; cs;s vz;fspd; 
$Ljy; rkk; vdpy;> x> y kw;Wk; z d; kjpg;Gfisf; fhz;f. 
 

1 -10 X 

y     -3 -2 

-6 4 z 

a. x= -7, y = -4, z =0   b. x = 0, y =-7, z = -4  c. x = 0, y = -4, z= -7 

d. x = -4, y = 0, z = -7  e. tpil njupatpy;iy 


